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QUESTION 1

Given the following applications:

SAS Add-in for Microsoft Office

SAS Enterprise Guide By default, How do these applications assign libraries?
A.

by using the SAS/ACCESS interface

B.

by using the metadata LIBNAME engine

C.

by using the BASE SAS engine

D.

by using the server autoexec file

Correct Answer: B

QUESTION 2
Given the following authorization setup:

-Mary is a direct member of DeptA and DeptB

Library Sales2 has an explicit RM denial for DeptA.

Library Sales2 has an explicit RM grant for DeptB. Which statement is true?
A

Mary can see Library Sales2.

B.

Mary cannot see Library Sales2.

C.
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Mary can see Library Sales?2 for data associated withDeptB only.
D.
Mary can see Library Sales?2 for data flagged as PUBLIC only.

Correct Answer: B

QUESTION 3

Which of following statement is FALSE? Updating table metadata enables you to:

A. update table security settings at the metadata and operating system level.

B. update table definitions to match corresponding physical tables.

C. add table metadata for tables that exist in the physical library but have no metadata in the repository.

D. delete metadata for table definitions that exist in the metadata repository but do not have a corresponding table in the
physical library.

Correct Answer: A

QUESTION 4

To support seamless access to database servers or SAS processing servers, a login for outbound use may be defined
in the metadata.

An outbound login must include:

A. a userlD.

B. a user ID and password.

C. a user ID and authentication domain.

D. a user ID, password, and authentication domain.

Correct Answer: D

QUESTION 5

Which statement is a disadvantage of pre-assigned libraries?

A. The server does not become available to the user until all pre-assigned libraries have been assigned.
B. Pre-assigned libraries must be identical across all SAS client applications.

C. Pre-assigned libraries must be assigned using the autoexec file.

D. The administrator cannot control which engine is used to access data in a pre-assigned library.
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Correct Answer: B

QUESTION 6

Which statement regarding precedence principles for authorization is FALSE?

A. Settings on an item have priority over settings on the item\\'s parent.

B. If identity precedence and the type of setting do not resolve a conflict, the outcome is a denial.
C. Explicit settings have priority over ACT settings.

D. A direct member of multiple groups cannot have conflicting settings.

Correct Answer: D

QUESTION 7

Which statement is FALSE regarding the use of the OMABAKUP macro to backup the SAS environment?
A. It can be used to restore the backup files.

B. It can be used to reclaim unused disk space with the REORG option.

C. It stops the metadata server while performing a backup.

D. It creates a backup with minimal disruption in service.

Correct Answer: C

QUESTION 8

Metadata repositories are a collection of files in a physical folder. In what format are the files stored?
A. SAS data sets

B. SAS metadata sets

C. XML

D. SGML

Correct Answer: A

QUESTION 9
A platform administrator needs to associate a library with an application server.

What permission level on the application server will the platform administrator need for this task?
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A.CM
B. RMLE
C. WM
D. WMM

Correct Answer: C

QUESTION 10

Place the Log events in order of Diagnostic Level for severity from Highest (most severe) to Lowest.
A. DEBUG, INFO, ERROR, WARN

B. WARN, ERROR, DEBUG, TRACE

C. ERROR, DEBUG, TRACE, WARN

D. ERROR, WARN, INFO, DEBUG

Correct Answer: D

QUESTION 11

A host is using an LDAP provider as a back-end authentication mechanism. For this setup, how does the SAS server
view the authentication?

A. integrated authentication
B. back-end authentication
C. internal authentication
D. host authentication

Correct Answer: D

QUESTION 12

An identity hierarchy specifies a list of identities and the order of precedence of those identities. Which listing of
identities is ranked from highest priority to lowest priority?

A. User, direct group, indirect group, SASUSERS, PUBLIC
B. User, SASUSERS, PUBLIC,directgroup, indirect group
C. SASUSERS, PUBLIC, User, direct group, indirect group

D. direct group, indirect group, User, PUBLIC, SASUSERS
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Correct Answer: A

QUESTION 13

A host is using an LDAP provider as a back-end authentication mechanism. For this setup, how does the SAS server
view the authentication?

A. integrated authentication
B. host authentication

C. internal authentication
D. back-end authentication

Correct Answer: B

QUESTION 14

A customer\\'s environment has a standard workspace server instantiated by the object spawner. What authentication is
required to support this configuration?

A. back-end authentication
B. integrated authentication
C. host authentication

D. internal authentication

Correct Answer: C

QUESTION 15

The SAS configuration directory on each server machine must be protected by:
A. metadata access controls.

B. operating system controls.

C. the Authorization Manager of SAS Management Console.

D. the default Access Control Template (ACT) .

Correct Answer: B
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